Monday March 30th: 
Math
1. John went to town on the bus. He bought a bus ticket, two CDs and two concert tickets.	
(i) Find the total cost of	
Bus ticket: 	€10·00 ×1 = 10.00
    	C.D.: 		€15·50 ×2 = 31.00
	Tickets: 	€21·99 ×2 = 43.98
  			 Total 	=     €84.982 x €50 = €100
100.00
-84.98
€15.02


(ii) I pay with two €50 notes. How much change do I get? 



2. John went out for dinner with his family. They had two starters, two main courses and two desserts. 	
(i) Find the total cost of	
Starter: 	€7·99 ×2 = 15.98
    	Main Courses:	€14·99 ×2 = 29.98
	Dessert: 	€6·95 ×2 =   13.90
  			 Total 	=   €59.862 x €50 = €100
100.00
-59.86
€40.14

(iii) I pay with two €50 notes. How much change do I get? 
3. Draw these Venn diagrams in the space below. 
O = {3,6,9,12,15 }                           P={7,8,9,10,11,12}
	O	3.	P
	9. 	7.
	6.	12.	8.
	15.	10.
	11.
a. What is O U P? {3, 6, 7, 8, 9, 10, 11, 12, 15} b. What is O ∩ P? {9, 12}
c. What is #P? 6   				d. What is O \ P? {3, 6, 15}
(Remember: # = how many elements in the set)
4. In a class, 27 students were asked if they preferred hurling or soccer. Their answers are represented in the Venn diagram below. Answer the questions that follow. 
	
   Hurling	      Soccer
	8	4	4

		
                                                                      11



a) How many students played both sports? 4
b) How many students played hurling only? 8
c) How many students played neither sport? 11
d) How many students played soccer? 8
e) How many students played hurling? 12
English: Read the following story and answer the questions that follow. 
1. What is the biggest contributor to greenhouse gas emissions?
Carbon dioxide is the biggest contributor to greenhouse gas emissions.
2. What do scientist think cause greenhouse gases?
Scientists agree that the burning of fossil fuels like oil and coal causes greenhouse gases.
3. What is deforestation?
Cutting down trees
4. What might happen if the Earth gets too warm?
There may be more storms, floods, fires, sea levels may rise and areas may become too dry for farming.
5. Give two examples of how humans contribute to global warming.
By burning fossil fuels when they drive a car, fly in an airplane, heat or cool their houses and cut down trees to clear land.
6. Give two ways in which your school helps the environment. 
Green School Committee, recycling, turning off lights when we leave rooms, by all getting buses to school instead of individual cars or other reasons you thought of.
7. Imagine that you live in a planet where there are no plants or animals left because the Earth became too hot. Write five lines to tell me what you think that would be like? 
History:
Answer the following questions:
1. Did the Romans use carpets? No
2. What was a peristyle? A walled garden
3. What was a rich romans house called? Domus
4. What was used on the roof of a domus? Red Tiles
5. Name three rooms you might have found in a domus. Office, bedroom, library, dining room, kitchen or temple.
6. What do you think the Romans have done with the collected rainwater in the impluvium?
Used it for bathing, drinking water, watering plants in the garden, cooking or any other ideas you could think of. 



 Tuesday 31st March:
1. In a class, students were asked if they preferred art or math. Their answers are represented in the Venn diagram below. Answer the questions that follow. 
	
   art	      math
	11	5	9

		
                                                                      6



1. How many students in the class? 30
1. How many students like art only? 11
1. How many students like math? 15
1. How many students like neither subject? 6
1. John went to the cinema with his kids. He bought one adult ticket and three kid’s tickets. He bought four medium popcorns and four medium drinks. 
(i) Find the total cost of	
One Adult Tickets: 		€8·00 ×1 = 8.00
    	Three Kids Tickets: 		€5·50 ×3 = 11.00
	Four Medium Popcorn: 		€3·99 ×4 = 7.983 x €20 = €60
 60.00
- 32.96
€27.04

	Four Medium Drinks:		€2.99 x 4 = 5.98______________ 
  					 Total 	   = €32.96
I pay with three €20 notes. How much change do I get? 
1. A = { 2, 4, 6, 8, 10}, B = {4, 8, 12, 16, 20}
1. Show the elements in the Venn diagram below
	
            A	B
	2.	4.	12.
	6.	8.	16.
	10.	20.
1. List the elements of A U B: { 2, 4, 6, 8, 10, 12, 16, 20 }
1. List the elements of A ∩ B: { 4, 8 }
1. What is #A? 5
1. What is B\A? {12, 16, 20}

1. In a class, students were asked if they preferred books or TV. Their answers are represented in the Venn diagram below. Answer the questions that follow. 

	        Books	                                                           TV


	11	5	7

7



1. How many students read books only? 11
1. How many students watch TV only? 7
1. How many students don’t like books or TV? 7
1. How many students like both? 5
1. How many students watch TV? 12
1. How many students in the class? 30


English: Read the following comprehension and answer the questions that follow. 
1. What country is Ruby from? Thailand
2. Who were Rubys roommates? Chickens and a goat
3. What did the zoo keepers give Ruby when she was bored? A paint brush and some paint
4. How much was Rubys most expensive painting? $25,000
5. What happens money raised from the sale of elephant art? The money earned from the sale of their art goes towards protecting wild elephants.
6. Why did Rubys painting come to a stop? She died
7. Do you think animals should be kept in zoos?? Yes or no. Give two reasons to support your answer. 
Yes: They are protected, they are safe, they get fed often, people can see animals that they otherwise wouldn’t.
No: They should be in the wild, they should be allowed run free, it is cruel to keep them locked up. 
History: 
Revise the Ancient Rome Kahoot today:
Ancient Rome: 0335344
Read this piece on Plebeian Housing and answer the questions that follow. 
Poorer Roman citizens, or Plebeians, lived in apartments or flats often above shops. Entire families would share one room. 
        These apartments were known as "Insulae". They were often three or more floors high. There was shops or workshops on the ground floors. The higher floors were only made of wood and there was always a serious risk of fire and collapse. 
       Light came from the open windows of the Insulae which had no glass in them. Water would be brought in from outside and residents would have to go out to public toilets as there was no toilets inside.  
Many poorer Roman families had no cooking facilities and had to buy cooked food from a shop. Some families cooked on wood burning stoves.
        The wealthy Roman Landlords, who owned the insulae, would try to keep the Insulae full of tenants to make a lot of money. 
Many of the plebeians in these buildings would have to take their waste and sewage to a dump or just throw it from a window into the street. 
        Fire, in these wooden buildings was a major risk, and the city, had several fire brigades. 

1. Would you like to live in an insulae? Yes/no. Give two reasons to support your answer. 
Yes: It was cheap, there as shops underneath, they were warm. 
No: There was a danger of fire, there was no toilet, you had to throw rubbish into the street. 
2. Who owned the insulae? Patricians
3. Was living in an insulae dangerous? Yes/no. Give two reasons to support your answer. 
Yes: There was a constant risk of fire, there was a risk of disease because of the rubbish or any good reason you come up with. 
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